HORSES

TEEL DIPIE

640 North El Dorado Street Stockton, CA 95202 Phone (209)943-0991 Fax (209)943-7923
www.wildhorses4x4.com

Quick Ratio Steering System
#2072/2075/2079 Date 03/21/07

Please note this instruction sheet is written from the perspective of one converting from stock Bronco manual
steering. If you are changing from one power steering system to another some of the instructions may not apply
and there may be areas that are not specifically covered in this sheet. WH tech service is available M-F 8:30-
5:00 should you have any additional questions.

1. For safety move Bronco to flat level ground. Block the rear tires. Disconnect the battery.

2. Use pickle fork/ball joint disconnecting tool to remove the draglink from the pitman arm.

3. Remove pitman arm from steering box.

4. Now move to the column. There is a spring clip which retains the rubber boot inside the coupler. Remove the
clip with pliers.

5. At the bottom of the column there is a clamp holding the steering shaft lower bearing in place. Loosen the
clamp.

6. From the inside of the Bronco pull the steering wheel up about 6” so that the shaft comes out of the coupler
on the steering box. Put vise grips on the shaft to keep the shaft from falling back down towards the steering
box.

7. Remove the steering box from the frame. Now is a good time to inspect the condition of the frame. The sec-
tion of frame where the steering box is bolted to can be a problem area. Make sure there are no cracks. Check
the inner section of the frame by the radiator. Repair any damage before bolting on the new box.

8. Bolt the new box to the frame. Use washers under the bolts. Bolts go from the inside of the frame and thread
into the box. Be careful not to cross thread the box.

9. Center the box by turning all the way from one direction to the other. Make sure the front tires are straight.
Reinstall the pitman arm and draglink.

10. Now we will focus on the steering pump. It is easiest to remove the radiator when installing the steering
pump and brackets (you will have a lot more room to work) but can usually be done with the radiator in place.
11. NOTE: WH brackets are specifically designed for use with stock 289 and 302 Bronco water pumps.
Remember if you have a 351W you will need our #8048 adapter bracket to keep all the brackets lined up prop-
erly. The stock Bronco water pump will have the water inlet on the passenger side of the motor.

12. Start by bolting the pump to the pump bracket. 4 bolts and two spacers are installed on the pump. These are
metric and should be used in the same holes you remove them from. Because the pulley is installed on the pump
it will take some finesse to start the bolts but we assure you it will work and can be done.

13. Bolt the pump adjusting bracket to the water pump.

14. Determine which end of the double threaded rod fits your head 3/8 or 7/16”. Use the rod to bolt the as-
sembled pump and bracket to the pump adjusting bracket and head. Use an appropriate amount of washers for
spacing of the pump bracket away from the head. This is to line up the pulleys and belt. We do not include a belt
in the kit because of all the different size crank and water pump pulleys. Obtain the correct size v-belt from your
local parts store.

15. You have one pressure and one return hose in your system. These are metric and use o-rings. Make sure the
o-rings are in place on the ends of the fittings of the hoses. The return and pressure hoses are different sizes.
Start with the return hose. It has just one fitting end. Install it in the box and route the other end to the return
port on the pump. Use a hose clamp on the pump end. Now install the pressure hose to the box and pump.

16. Now back to the steering shaft. If you purchased the deluxe version of the system refer to the custom
lower shaft instructions. Then proceed to #22 below. For the single joint version proceed to the next step.



17. Install the new U-joint/yoke on the input shaft of the new steering box. Line up the set screw with the place
on the input shaft grooved for the set screw, then snug down the set screw but do not tighten at this time.

18. At the bottom of the steering shaft you will see a pin and collar. Cut the shaft about 1/2” or so above the col-
lar. You can use a hack saw, die grinder etc. File the end so the shaft will slide into the yoke on the steering box.
Lower the steering shaft into the yoke. If they do not line up, you may have to remove the triangle shaped piece
at the firewall and make vertical slots in the piece about 1/2” longer in each of the three holes. Make the slots
about 1/2” in width. Please note if you have a body lift it is best to use a WH custom lower steering shaft.
19. Now bolt the triangle piece back on the Bronco. Insert the shaft into the yoke completely so that the shaft

is even with the bottom of the hole in the yoke. Now go inside the Bronco and measure the distance from the
backside of the steering wheel flange to the turn signal switch housing and subtract 1/8” from the measurement.
This measurement is very important.

20. Pull the steering shaft, (with the wheel still on it) out of the yoke. Cut the measured amount off of the end
of the shaft inside the engine compartment. Replace the shaft into the yoke making certain the steering shaft is
down near the bottom of the hole in the yoke. The steering wheel and hub should also be in the proper origi-
nal position for the directional signals to work. Slide the steering shaft clamp on the steering shaft back up and
tighten it up as before. You should have about 1/8” gap between the turn signal switch housing and the steering
wheel hub. This is critical! If you do not leave enough gap you could experience a tightening of the steering un-
der hard acceleration. The early columns are slotted under the dash and you can sometimes adjust this problem
out by loosening the shaft clamp and moving the column down into the engine compartment.

21. Now it’s time to connect the lower yoke to the shaft. Use a #7 drill bit and drill straight through the univer-
sal joint and the upper shaft. Tap the hole with a 1/4”-28 tap. Use a 1/4” drill bit and drill only about half way
through the assembly. Use red Loctite and bolt the universal joint to the shaft with the 1/4”x1 1/2” bolt and nut.

Start back here if you have the deluxe system

22. At this point everything should be double checked and tightened into place.

23. Fill the steering pump with steering fluid. We recommend that you us a regular non synthetic power steer-
ing fluid. Do not use Valvoline automatic transmission fluid it will void your warranty. Connect the battery
and remove the ignition coil wire. Turn the motor over a few times. This will allow the steering system to move
fluid from the pump to the box and hoses. Add fluid once or twice before you reinstall the coil wire and start the
Bronco.

24. With the front axle on jack stands start the Bronco and turn the steering wheel lock to lock 5 to 10 times.
Check for leaks, and smooth operation with no binding. Double check and make sure power steering fluid is at
the correct level.

25. Time for your test drive. Start with a few trips around the block turning right and left on your route. Come
back and recheck under the hood just to be safe. If the steering wheel is no longer centered remove the steering
wheel and reinstall in the correct position.

This photo is to show the bolt and
nut. You do not have to take the joint

This photo shows the gap between the steering apart like the one pictured here.

wheel hub and turn signal switch housing.



This photo shows a simple frame repair
using our #2430 support plate.

This photo shows the three holes used to
mount the box to the frame.

This photo shows front view of as-
sembly on a 351W

This photo shows view of the pump from

passenger side pump mounted to the water pump and head.






